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Individual Summary

Green: <11, Amber: <24, Red: >24 "Green %> 66.0%

Amber %> 23.0%

Red %< 23.0%
Shape, Space and

Total Pupils: 14 Overall Number Measure
Incorrecr or || Total Score

Name LVI| unanswered  Incorrect  Unanswered 130 Percent Score /0 Percent Score /0 Percent
A 2a 2 3 25 83.33% 22 91.67% 3 50.00%
B 2a 1 8 21 70.00% 15 62.50% 6 100.00%
C 2c 0 19 19 11 36.67% 37.50% 2 33.33%
D 2c 1 20 21 9 30.00% 20.83% 4 66.67%
E 2a 4 6 10 20 66.67% 15 62.50% 5 83.33%
F 2a 4 5 9 21 70.00% 17 70.83% 4 66.67%
G 1 20 4 24 6 20.00% 5 20.83% 1 16.67%
H 2a 0 5 5) 25 83.33% 19 79.17% 6 100.00%
| 2b 4 7 11 19 63.33% 14 58.33% 5 83.33%
J 2a 3 3 6 24 80.00% 19 79.17% 5 83.33%
K 2b 2 12 14 16 53.33% 14 58.33% 2 33.33%
L 1 8 17 25 5 16.67% 4 16.67% 1 16.67%
M 2a 1 6 7 23 76.67% 17 70.83% 6 100.00%
N <1 15 12 27 3 10.00% 1 4.17% 2 33.33%
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Class correct: 52.38%| 61.90%

Maximum 24 6

Correct 12.57 3.71

Incorrect 7.64 1.43 B Number

Unanswered 3.79 0.86

Incorrect or

unanswered 11.43 2.29
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The chart below graph shows the average percent for the cohort answering the
questions in the particular area correctly. It should be noted that here each area
does not hold equal weighting.

Cohort Percentage Correct in each Area
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2009 Mathematicss KS1 L2 Sample Data Cohort Summary Generated 24/11/2013 11:19 ©2013 Primary Tools
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Correct against Incorrect/Unanswered for Cohort

‘lCorrect M Incorrect or unanswered ‘
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Number of Questions for Area

Number Shape, Space and Measure

This height of the bar shows the weighting of each area and the average number correct and incorrect answers.
A large area of red would indicate an area of priority.
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ECorrect BEIncorrect or Unanswered
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Questions Sorted by Area
Correct against Incorrect/Unanswered
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This graph shows the specific questions correct and incorrect (or unanswered) for the cohort, sorted by area. More red shows a greater need for improvement.

Width of the strand indicates weighting.
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This graph shows the specific questions correct and incorrect (or unanswered) for the cohort, sorted by number correct. More red shows area for focus.
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KS2 2013 Reading Test Analysis Levels 3to 5

E Correct EIncorrect O Unanswered

Questions Sorted by Question Order
Correct against Incorrect/Unanswered
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This graph shows questions unanswered, incorrect and correct for the cohort, sorted by question type. Less green shows a focus area.
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Level Distribution

2a, 7

6 - Level Distribution
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